[D:9:9:9.0:9:9:0.0:9:0.0:9:9.0:0:9:0.0:9:0.0.0:9.0.0:9:0.0.0:0.0.0.9:0.0:9:0.0.0.9.0.0:9:0.0:0:9.0.0:9:0.0:9.0.0.0:0:0.0:9:0.0:0:9:0.0:9:0.0:0:9.0.0:9:0.0.0:0.0:0:9.0.0.9:9.0.0:0.0.0.9:0.0.0:0.0.0.9:0.0.0:0.0¢
X

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXXXXXXXXXXXXXKXXXXXKXXXXXKKXXXXKXKMS/1-6800305-00001X
X

TrigonometryExercise5 for No.10052

M
3 a
1 =arcCos(0) .2 =arcSin(1) .3 =arcCos| — T ¢
) h
Nol =| 4=arcTan(0) .5= arcSin[— TJ .6=arcCos(3) | . @
M
1 3
= arcSinL—J .§=arcTan(1) 9= arcCos(LJ v
L 2 2 T
L/
[ -1 . 1 1 [M]
.1 =Tan(arcTan(-1)) .2 = Tan| arcSin ; .3 = Sin| arcCos 5 a
. 2n . n !
.4 =Cos arcSm .5 =arcCos| Cos T .6 = arcSin| Cos ; h
No2 = s 17 b 137 Sn - | @
.7 = arcSin| Sin| .8 = arcCos| Cos .9 =arcTan| Tan| — —— M
3 6
5 I r
.10 = Sec| arcSin| —T .11 = Tan| arcSin| Cos T .12 = ArcCos| Sin| ArcCos| T .
~ M_
(A2 . A5 a
.1 = Csc| arcSin —T .2 =Sin(arcTan(-4)) .3 =Tan| arcCos| — 7 ¢
7 1 7 h
No3=| 4= Cos[arcTan[—D S= Tan[arcSin[—D 6= Cot(arcTan(—D , .| @
4 2 M
-4 . 1 . U
.7 =Sec| arcCos| — .8 = Sin| arcCos| ~ .9 =Cos arcSln -
L 9 5 7 T
L ~/ .
]
i ) 1 (-1 1 (2 i a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| ~ ¢
5 2 6 5
1 5 h
No4 = 3= Sin[Z arcSin[—D 4= cos[Z arcSin[—D , | @
2 7
M
. I5n (Tn . T
.5 = arcTan| Cos(5 ) + Sin| — 5 .6 = Cot| arcCos| Sin| ? + arcSin| Cos T u
L - T
L -/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.10064

3

.1 =arcCos| ——
2
(1
.4 =arcSin| ~
2

1 ]
2= arcSin(;J .3 =arcCos(1)

Nol = S=arcCos(2) .6=arcTan(0)

> s

/_\\ﬂQﬁ@bNQi

X

3
7= arcCos(— LJ .8=arcSin(0) .9=arcTan(1)
(A3 (1 . 3)) | [M]
.1 =Sin| arcSin| — —— .2 = Cos| arcSin| ~ .3 =Sin| arcCos| ———
2 2 a
2 5n T !
.4 =Tan| arcCos .5 =arcCos| Cos T .6 = arcCos| Sin ; h
N02 = s s @
N 1 Sn T
7= arcSm(Sm(— j 8= arcCos(Cos( —D 9= arcTan[Tan( D M
6 6 U
I3 137 -1 T
.10 =Csc| arcTan _T Al = Sec arcCos| Sin p .12 = ArcCos| Sin| ArcCos| — ,
~ M_
1 7 (3 a
.1 = Sin| arcCos| g .2 =Cot| arcTan| T .3 = Tan| arcSin g ¢
5 -4 7 k
No3=|.4= Csc(arcCOSL—D .5=Sin arcTanL— J 6= Cos(arcTan(—D , | @
8 7 3 M
-4 5
7= Sec(arcSinL—jj 8= Tan(arcCos[— LJJ 9= Cos(arcSin[— £D U
L 5 8 7 )] T
L ~/ .
C ]
i ) 1 (-3 3 (1 i a
.1 = Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
5 8 7 2
3 2 k
No4 = 3= Sin[Z arcSinE—D 4= cos[Z arcSinE—D , .| @
5 3 M
L . on . 3= ) 7n
.5 =arcTan| Cos| — |+ Sin| ——— .6 = Csc| arcCos| Sin| ——— | |+ arcSin| Cos| —— U
L 2 2 6 3 | T
L / -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.10076

[ 2 1 3]
A= arcCos(gj 2= arcSin(Ej 3= arcTan[gJ

2
A4 =arcCos(l) 5= arcCos(— TJ .6=arcSin(0) | >

-1
.7 =arcTan(0) 8= arcCos(ﬂ/; ) 9= arcSin(zJ

I 1
A= cos[arcCos(— D 2= Cos(arcSin[ED 3= Tan[arcSm(
4= Sin(arcTan(LD 5= arcCos(Cos(ED 6= arcSin(Co (
3 3
No2 = . b
b
7= arcSin[Sin( D 8= arcCos(Cos( ZD 9= arcTan[Tan[ J
A2 11=
.10 = Sec| arcSin T Al = Sec arcCos| Sin| — p .12 = ArcCos| Sin| ArcCos| 5

e e R e e e
D .5:Tan[arcSin[%D .6=Sec£arcCos( 3%} ; %

Nol =

~NCE®=~s8 ¥

50l

|.:1 (SN
~ L
]

1

]

- s
(o))

—
a
—_

~NCR®=~=s K

T

No3=| 4= Cot(arcSin[-

.7 = Sin| arcTan|

VT
w2 WL
~—

4
j .8 =Csc( arcTan(ﬂ/; )) 9= Cos[arcTan(gj

i 1 1 2 2 ]
A= Sin(arcCos[—J + arcSin[—D 2= Cos(arcCos[—J + arcSin(—D
2 2 3 3
3 2
No4 = 3= Sin[Z arcCongD 4= cos[Z arcSin[;D
. T [ T= . 13n
= arcTan(Cos(4 T)+ Sm(— ;D 6= Csc[arcCos[Sm[TD + arcSm[Cos[ 3 DJ

~NCE®s~» %

M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.10077

I 2 -1
A= arcCos[— g} .2 =arcCos(-1) 3= arcSin(;J
1 3
Nol=| 4= arcSin(—«/g) 5= arcSin(Ej 6= arcTan(— g]

2
.7 = arcCos T 8= arcTan(«/;) .9 =arcSin(1)

I 3
A= Sln[arcSln(— ) ]] 2= Sin(arcTan([JJ 3= Tan[arcCos(—
1 b4
4= Cos[arcSl (—D 5= arcSm(Sm( D 6= arcSm(Cos(
b
7= arcSin(Sin( D 8= arcCos(Cos( ZD 9= arcTan(Tan( ?
1
0= Csc(arcSm[ED Al = Cot[arcCosESin[ D

)
_.1 = Csc(arcSin[@D 2= Cot(arcCos(L%j .3 =Sec( arcTan(«/g ) )_

5
3 5 1
No3=| 4= Cos[arcSin(—D 5= Sin[arcCos(zj 6= Tan(arcCosEgD

7= Tan(arcSm[ jj 8= Cos(arcTan(?D .9 =Sin(arcTan(4))

~NQCEX®>~23 &

T
L

[

)

.l:.
;/l\)
N—

No2 =

1

a

N——

——
~~NQR®=s= -~ X

2= ArcCos[Sin(ArcCos[

l\>|§|
N—
N——
L

[\e}

~~NQOR®=>~18 K

M
| . 1 (s | (2 T a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
2 9 4 5
1 1 h
No4 = 3= Sin[Z arcCos[—D 4= cos[Z arcCos(—D , .| @
6 5
M
(17 mn . I1n . 2mn
= arcTan[Cos(7 T)+ Sln[ 5 D 6= Sec(arcCos[Sm(— _6 D + arcSln(Cos(— TJD U
L - T
L -/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.10083

.l =arcSin(-3) .2=arcTan(0) 3= arcTan(~\/?)
(1 2 (A3
.4 =arcSin| ~ S =arcCos| —— | .6=arcSinl ————
Nol = 2 2 2 > s

-1
7 =arcCos(0) .8 =arcSin(1) 9= arcCos(;]

3
A= cos[arcCos(%D 2= Sin[arcCos(— D 3= Cos[arcTan[
(A2 .

.4 = Tan| arcSin| ——— .5 =arcCos| Cos| — .6 = arcSin| Cos|
2 4

No2 =

. . 3= e
.7 = arcSin| Sin| — p .8 = arcCos| Cos g

.10 =Csc( arcTan(—«\/?)) Al = Csc(arcSinECosL—

T

NE] “’|T§j - TX®=~=8 ¥
Na—

~
a

|

9= arcTan[Tan[

T
Z j 2= ArcSin(Cos(ArcSin(

)
redwcold) msefusf2)) ol
oo o) seedumld) o ol L2 )|
I 7= Sln[arcCos[ 95 ]J .8=C0t(arcTan(T7 ] .9 =Sin arcTan( JJ

i 2 -5 2 1 i
A= Sin[arcCos(—] + arcSin[—D 2= Cos(arcCos[—J + arcSin(—D
5 9 7 6
1 1
No4 = 3= Sin[Z arcSinEgD 4= cos(Z arcSin(gD
5w . 1ln (17= ) 8n
5= arcTan[Cos[TJ + Sln[— TD 6= Sec(arcCos[Sm( p D + arcSm(Cos(TjD

M
| U
T
M
| U

T
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=

)

N
L
T
L

~NSE®=~s K

~NQR®s-~-=3 X

No5 = Sin(2 arcSin(a)),

No6 = Cos(2 arcCos(a)),
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TrigonometryExercise5 for No.10109

1 =arcCos(0) .2=arcTan(0) 3= arcTan(ﬂ/;)

(42 ! ,
Nol = 4= arcSln( > ] JS= arcCos[zj .6 =arcSin(1)

-1 3
7= arcCos[;J 8= arcSin(—«/z) 9= arcSin[— gj

A= Sln[arcSin[ D 2= Tan[arcCos[%]] 3= Sin(arcTan(«/;))
3n 27
4= Cos[arcSm( j S= arcCos[Co [T J 6= arcSin(Cos[TD
o T 2n 17n S0
7= arcSm(Sm( p D 8= arcCos[Cos[ TD 9= arcTan[Tan[ p D
0= Csc(arcSin(@D Al = Cot(arcCosLSm[ STDJ 2= ArcSin[Cos[ArcSin[— @]D

> >

~~NORX® =~ X

[~

R — N

No2 =

—_
~

~NQE®=~s g

-1 = Cos( arcTan(—x/E ) .2 =Sec(arcTan(-5)) 3= Cos(arcSin(gD

(s (1 3
No3 =|.4 = Tan| arcSin| —? .5 = Cot| arcSin| ? .6 = Tan| arcCos| g
, 2 3 ,
7= Sln[arcCos[gD 8= Csc[arcCos[— TD .9 =Sin(arcTan(4))

M
a
t
h
@
M
U
T
/

M
[ . 3 (4 2 (2 1 a
.1 = Sin| arcCos| ~ |+ arcSin| ~ .2 =Cos| arcCos| 7 | + arcSin| — ¢
7 7 3 3
1 5 h
No4 = 3= Sin[Z arcSin[—D 4= cos[Z arcSin[—D , .| @
6 6
M
[ 23m . T . 10m
= arcTan[Cos(Z T)+ Sm[ 5 D 6= Sec(arcCos{Sm(— ?D + arcSln(Cos(—3 jj] U
L - T
L / .
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.10180

2
.l =arcTan(-1) 2= arcCos(Tj .3 =arcCos(3)

1 3
Nol=| 4= arcSinEEJ 5= arcCos[— g] .6=arcCos(0) | >

-1
.7 =arcTan(0) .8 =arcSin( 1) 9= arcSin(;J

_ 1= Sin[arcSin[— “/ED 2= Tan(arcSin[gJ

2

) ;
. 4= Cos(arcSin[— @D 5= arcCosLCo E?J% 6= arcSin(Co (gj

~NQX®=~2 &

T
L

3= Sm[arcCos

N—
Ne—
|

1

|

11=
7= arcSin(Sin(— p D 8= arcCos[Cos[ 9= arcTan[Tan[

(sl col 52 )] 2 s e s %)
.10 = Cot(arcTan(-1)) .11 = Cot| arcSin| Cos 7 .12 = ArcSin| Cos| ArcSin| T

M

-2 ) 1/_ a

.1 = Tan| arcCos 7 .2 = Sin| arcCos T 3= Sm arcTan ¢
h

3 5

No3=| 4= Sec(arcTan(—jj S= Csc[arcCos(—jj 6= Tan[arcSin( D ., .| @
2 6 M

] U

T

!

QS

N

Na—
~\~]Q§@w~a§

[\
w | A

=

1 -3
7= Cot[arcSin[ZD 8= Cos[arcSin(gJ 9= Cos[arcTan( D

-y

M
[ 2 -1 1 3 ] a
.1 = Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| — | + arcSin| ~ ¢
5 2 2 7
2 2 h
No4 = 3= Sin(Z arcSin(—D 4= cos[Z arcCosL—D , | @
3 3 M
. b . Sn ) b1
S= arcTan(Cos(4 )+ Sm(— ;D 6= Sec(arcCos[Sm(— ?D + arcSm(Cos(— ;DJ U
- - T
L ! .
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.10181

1 =arcCos(0) 2= arcTan(ﬂ/;) .3 =arcSin(-1)

1 . 2
NoJ = 4= arcCostj JS= arcSm(— 5 j .6 =arcTan(1) ’

3 -1
7= arcSin[gJ 8= arcCos[;j .9 = arcSin(-3)

I -1
A= cos[arcCos(;J .2=Sin(arcTan(1)) 3= Cos(arcSin[

3 i
4= Tan[arcCos(—D S= arcSin(Sin[ JJ 6= arcCos[Sin(
_ 2
No2 =
. . S5n 137
.7 =arcSin| Sin| ——— .8 = arcCos| Cos .9 =arcTan| Tan| —

6
1
0= Csc(arcSm ;]

|§|I-\~1Q§®w~:=§

)

NE
=)

resmsleo 23] r- e el

3
A= Tan[arcCos[— {D .2 =Sin(arcTan(5)) 3= Sin(arcCos

N 5
No3 =| 4 =Tan| arcSin —T .5 = Cot| arcCos g .6 =Csc arcSm

(4
.7:C0s[arc51n(§]J 8= Cos(arcTan(«/_ 2)) 9= Sec(arcTan

wla
N~

—_

7

~NQE®=~s g

7~ N\
O | W
N——
N

N\
\]lu,

N—
I;/

NI
N—
Na—
- N g:@® =~ X

[ 5 -1 1 2
A= Sin[arcCos(—] + arcSin[—D 2= Cos(arcCos[—J + arcSin(—D
7 2 5 3
1 5
No4 = 3= Sin[Z arcSin[gD 4= COS(Z arcCos(gD
Tn . 1= (17m . 8
.5 = arcTan| Cos 7 + Sin| — > .6 = Csc| arcCos| Sin T + arcSin| Cos| T

M

No5 =Sin(2 arcSin(a)), ,| U
T

M

No6 = Cos(2 arcCos(a)), ,| U

T
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TrigonometryExercise5 for No.10191

M
a
1 3
A= arcCos[EJ 2= arcSin(g] 3= arcSin(«/; ) ;l
Nol =| .4 =arcTan(0) .5 =arcSin(0) 6=arcCos(l) | .|l @
-1 3 M
7= arcCos(;J 8= arcTan(«ﬁ) 9= arcSin[— g] U
T
(. ~/ -
1 I3 [ M|
.1 =Tan(arcTan(1)) .2 = Tan| arcCos ; .3 = Cos| arcTan T a
[ t
. 3 (e[ ™ n
4= Sm[arcTan[—T]] 5= arcSm(Sm( ZD 6= arcCosESl (Z j h
No2 = ] @
. . 177 77 771
.7 =arcSin| Sin| — .8 = arcCos| Cos| — .9 =arcTan| Tan| ——— M
6 3 6 U
1 (13 , I3 T
.10 = Csc| arcCos 5 .11 = Tan| arcCos| Sin| p .12 = ArcCos| Sin| ArcCos| T /
s
. 3 -5 a
.1 =Cot( arcTan(ﬂ/;)) .2 = Sin| arcCos —? .3 = Tan| arcSin E ¢
h
4 . 2 5
No3 =| 4 =Tan| arcCos| = .5 =Csc| arcSin| ——— 6= Cos arcSin| — ., .| @
7 3 9 M
(3] scofwernl(]]o-sefwcof )| |
.7 = Sin| arcTan| — .8 = Cos| arcTan| — .9 =Sec| arcCos| —
L 7 6 5 T
L/
[ 4 -1 2 2 ]
A= Sin[arcCos[—J + arcSin(—D 2= Cos[arcCos[—j + arcSin(—D
5 2 3 3
1
No4 = 3= Sin(Z arcSin(gjj

1
4= cos[Z arcSinEgD
n ) on A . n
5= arcTan(Cos[;J + Sm(— TD 6= Cot[arcCos[Sm[?D + arcSm[Cos[— EJD

~NQX@® s~ X

No5 = Sin(2 arcSin(a)),

s

No6 = Cos(2 arcSin(a)),

s
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TrigonometryExercise5 for No.10281

[ -1
A= arcCos(;J 2= arcTan(—\/;) .3 =arcCos(1)

1
S= arcCos(—]
2

7= arcSin(—w/E) 8= arcSin(— g} 9= arcSinEgJ

Nol =| .4=arcTan(0) .6 =arcSin(0)

> >

~~NORX® =~ X

I 2 3 3 1 [M]
A= Sin[arcSin(— g]) 2= Tan(arcSin[— g]} 3= Cos[arcSin(%D a
. 2 b . 2n !
.4 =Sin| arcCos| ———— .5 =arcCos| Cos| — .6 = arcSin| Cos| —//— h
No2 = 2 3 3 , | @
sl -] (ot -3)) (-2 ]|
.7 =arcSin| Sin| ——— .8 =arcCos| Cos| — — .9 =arcTan| Tan| — ——
6 3 6 U
(1 . 2n . (- T
.10 = Csc| arcSin 5 .11 = Csc| arcSin| Cos _T .12 = ArcSin| Cos| ArcSin| ; )
"]
(2 . s a
.1 = Csc| arcSin| ? .2 = Sin(arcTan(6)) .3 = Tan| arcCos T ¢
h
-5 3 1
No3=| 4= Sec[arcTanL—D 5= Tan(arcSin[£D 6= Cot(arcCos(—D \ @
3 i&/_ 5 M
-2 3 5
7= Sin[arcCos[—JJ 8= Cos(arcTan(— —jJ 9= Cos(arcSin[—D u
L 3 4 6 | T
L/ ]
]
[ 1 (-1 1 (1 T a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| — | + arcSin| — ¢
2 2 2 3
3 4 h
No4 = 3= Sin[Z arcSin[—D 4= COS(Z arcCos(—D , | @
5 9
M
. (13m . 4
.S =arcTan(Cos(3 n) + Sin(-2®)) .6= Sec(arcCosESln( p D + arcSln(Cos(TjD u
L - T
L -/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.10437

M
- ﬁ - 4
.1 =arcSin(0) .2=arcTan(0) .3 =arcSin| 7 ¢
1 h
Nol =|.4= arcTan(ﬂ/?) .5 =arcSin(-2) 6= arcCos[EJ , | @
M
-1 3
7= arcCos(—J S=arcCos(l) .9= arcSin[— LJ u
L 2 2 /] T
(. ~/ -
| 1 3 1 [m]
.1 =Tan( arcTan(«/;)) 2= Cos[arcSin(Ejj 3= Tan[arcSin(— g]) a
[ t
. 3 e [ (m
4= Sln[arcTan(— —D S= arcSm[ Sm[—]J 6= arcCos(Sln(—D h
No2 = 3 4 3 > s @
(sl ) [eof 2 ) |
.7 =arcSin| Sin| —/— .8 =arcCos| Cos| ——— .9 = arcTan| Tan|
6 6 6 U
) 107 . (-1 T
.10 = Csc(arcTan(-1)) ./ =Tan| arcSin| Cos 3 .12 = ArcSin| Cos| ArcSin| 3 )
oS
i (1 -5 2 ] a
.1 = Cot]| arcSin g .2 =Tan| arcCos| 7 .3 =Csc| arcCos ; P
1 3 7 h
No3 =|.4 =Sec| arcTan| — .5 =Tan| arcSin| —— .6 = Cos| arcTan| — , .| @
5 8 2 M
-1 5
= Cos(arcSin[;]J .8 = Sin( arcTan(«/g)) 9= Sin[arcCos(—D IYJ"
L J M
o7a
i ] 3 (2 3 (2 ] a
.1 = Sin| arcCos| ~ | + arcSin| ~ .2 =Cos| arcCos| ~ |+ arcSin| — ¢
8 7 7 7
1 1 h
No4 = 3= Sin[Z arcCos[—D 4= COS(Z arcSin(—JJ , | @
3 2
M
. (1= . 137
.5 =arcTan(Cos(4 ) + Sin(-4 n)) .6= Cot(arcCos(Sm( p jj + arcSln[CosETjD u
L 4 T
/

No5 = Sin(2 arcCos(a.)),

s

No6 = Cos(2 arcSin(a)),

s
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TrigonometryExercise5 for No.10493

ﬁ} .3 =arcSin(0)

2
-1
.6 =arcCos| —
2

1
4= arcTan(—w/; ) 5= arcSin(Ej
.9 =arcCos| ——
2 /]

.7 =arcCos(-1)
3= Cos[arcSl (

I 1
1= Sin[arcSin(—D
2
. 3m
6= arcSm[Cos[

I =arcTan(0) .2= arcSin[—

Nol =|.

.8 =arcSin(-3)

~\>\]Q§®w-a§

.2 =Sin(arcTan(1))

el 3)

th__ f
N
N

.4_Tan[msm(£n

- |
Ne—
Ne—

X

M
a
t
h
2
N02 = ‘ . 7 - 13 7 > > @
.7 = arcSin| Sin| =arcCos| Cos| ——— .9 = arcTan| Tan| — M
6 3 6 U
3 Sm , A2 T
.10 = Csc| arcCos T Al = Csc arcCos| Sin ? .12 = ArcSin| Cos| ArcSin| —T )
"]
23 5 a
A= Tan[arcCos[zD 2= Sln(arcCos( D 3= Sm(arcTan(;D ¢
J2 5 3 h
No3=| 4=Cot| arcTan| ——— .5 =Csc| arcCos| — .6=Cos| arcSin| — | ||, .| @
5 6 7 M
(wraf))-ralwsl )] omsfansal) ||
.7 =Cos| arcTan| — .8 = Tan| arcSin| .9 = Sec| arcSin| —
7 5 5)) 1 T
L/
"]
i ] 1 (2 2 (-1 ] a
.1 = Sin| arcCos| 7 |+ arcSin| ~ .2=Cos| arcCos| ~ | + arcSin| — ¢
2 7 7 3
5 3 h
No4 = 3= Sin[Z arcCos[—D 4= cos(Z arcSin(—D , .| @
6 8
M
9n (9m . I1n . 4n
.S =arcTan| Cos| — |+ Sin| — .6 = Sec| arcCos| Sin| ——— | | + arcSin| Cos| —/— U
L 2 2 6 3 i T
L ! -
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.10596

- 5 _
A= arcSin[— g} 2=arcCos(l) 3= arcTan(—«\/g)

1
Nol =| .4 =arcSin| (EJ .5 =arcTan(0) .6 =arcSin(0)

1 2
.7 = arcCos| (;J 8= arcCos(gj .9 =arcSin(2)

_ ﬁ _
.1 = Sin| arcSin| T .2 = Cos| arcSin| — .3 =Sin( arcTan(«/?))
1 T
4= Tan(arcSl [—D 5= arcCos(Co (— J 6= arcCos[Sin[—D
No2 = 2 3 3
. (17= 131 I1n S
.7 = arcSin| Sin| p .8 = arcCos| Cos .9 = arcTan| Tan| —

3
0= Csc[arcSin([ ] Al = Sec(arcCos(Sln( jj] 2= ArcCos(Sln[ArcCos(— g

2
[ 2 -3
= Tan(arcCos[;D .2 =Cos(arcTan(-4)) 3= Cos(arcSm( 3
(s (43 1
No3 =| .4 =Tan| arcSin| g .5 = Csc| arcSin T .6 = Cot| arcTan Z
2 7 2
7= Sec(arcCos[gD 8= Sin[arcTan[— %D 9= Sin(arcCos(— g]j

~\>\]Q§®w-a§

T
L

—_—

(O8]

~NSE®s~5 K

L

~NQRO®F~ X T

M
i ] 5 (-1 2 (2 ] a
.1 = Sin| arcCos| ; + arcSin| ; .2 =Cos| arcCos g + arcSin| g ¢
3 5 k
No4 = 3= Sin(Z arcSin(—D 4= COS(Z arcCos(—D , .| @
8 9
M
Tn 1= 1= 8
.5 =arcTan| Cos| —/— | + Sin| — .6 = Cot| arcCos| Sin| — + arcSin| Cos| —/— U
L 2 2 6 3 ] T
L -, -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.10599

"]
. a
I =arcTan(0) .2= arcCos(_—J .3 =arcSin(-7) !
2 h
Nol =| .4=arcSin(1) S=arcCos(-1) .6= arcTan(ﬂ/;) , .| @
1 2 3 M
7= arcSinE—J 8= arcSin[— LJ 9= arcCos(Lj U
2 2 2
T
L/ ]
: 55 | Lacod BT ¥
.1 = cos| arcCos| —T .2 = Tan| arcCos 5 .3 = Sin| arcCos| T a
27 . b l
.4 =Cos(arcTan(1)) .5 = arcCos| Cos T .6 = arcCos| Sin| — Z h
No2 = o ( 17x 17 17 | @
.7 = arcSin| Sin| — .8 =arcCos| Cos .9 =arcTan| Tan| — M
6 3 6 U
ﬁ [ 13=m . (-1 T
.10 = Csc| arcCos T .11 = Csc| arcCos| Sin| — p .12 = ArcSin| Cos| ArcSin ; )

- Tan[arcsm(_ ? D e CSC(’“CT”GD 3= Cot(arcSinL%D ]
B R T A R |
I A

I 1 4 1 -1 |
A= Sin(arcCos[—J + arcSin[—D 2= Cos(arcCos[—J + arcSin[—D
5 7 2 5
2 2
No4 = 3= Sin[Z arcSin[;D 4= cos[Z arcSin[;D
(15w NRYE . 8
JS= arcTan[Cos(4 )+ Sln[ > D 6= Csc(arcCosLSln(TD + arcSln(Cos(T]D

e
a
t
h
@
M
U
T
!

~NQX@® =~ ¥

M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
X [Page = 0014] XXXXXXXXXXXXXXXXXXXXXXKXXXXXXKXXXKXXXXKXXKXXKXKKKXKKKKXXKKKXXKKKKKXKKKKXKKKK KX KKKK KKK KKKKK

X




):0:9:0.0:9:9:0:0:9:0.0:9:9.0:0:9:0.0:9:9.0.0:9:0.0:9:0.0:9:9.0.:0.9:0.0:9:9.0.0:9.0.0:9:0.0:9:9.0.0:9:0.0.0:0.0.0:9.0.0:9:0.0:0:9:0.0:9:0.0:9.9.0:0:9:0.0.0:0.0:9:9.0.0.9:0.0.0:9.0.0.9:0.0:0:0.0.0.9.0.0:0.0.0¢
X

X Math@MUT XXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXXKXXXXXXXKXXXXXKXXXXXKKXXXXKXKXMS/1-6800305-00015X
X

TrigonometryExercise5 for No.11068

M
2 a
1 =arcCos(2) .2=arcTan(1) .3 = arcSin T ¢
h
3 2
Nol =| 4=arcTan(0) .5= arcSin(— £j 6= arcCos(— LJ , | @
2 2 M
, 3 U
7 =arcSin(0) .8 =arcCos T .9 =arcCos(1) T
L i M
1 . 3 3 1 [M]
.1 =cos| arcCos| = .2 =Sin| arcCos| ———— .3 =Tan| arcSin| ——
2 2 2 a
«/E T 27 !
.4 = Cos| arcTan —T .5 =arcTan| Tan| —— .6 = arcSin| Cos T h
N02 = > s @
o (Llm 137
7= arcSm[Sm[ p D 8= arcCos[Cos[ J 9= arcTan(Tan[ p D M
U
sm . 2 T
.10 = Csc¢| arcSm .11 =Tan| arcCos| Sin| — .12 = ArcCos| Sin| ArcCos| T /

N

.1 =Cos(arcTan(7)) 2= Cos(arcSm(—D

” ;_ 3= Csc[arcTan[-;D |
o sofncol ] serufusf i) o-cofaes(Z) |

reafocoll) senoenfZ) ses{enl )

[ 2 2 5 2 ]
A= Sin(arcCos[—J + arcSin[—D 2= Cos(arcCos(—J + arcSin[—D
7 5 7 3
1 1
No4 = 3= Sin[Z arcSinEgD 4= COS(Z arcCos(gjj
. 17n (5m . 10w
= arcTan(Cos( 10m) + Sm(— 2 D 6= Sec[arcCos(Sm(TD + arcSm[Cos[ 3 DJ

M
U
T
M
No6 = Cos(2 arcCos(a)), ,| U

T
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N

B

~NSX®=~28 X

NS E®= -2 X

No5 = Sin(2 arcSin(a)),
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TrigonometryExercise5 for No.11423

-1
.1 =arcSin(-2) 2= arcCos[;] .3 =arcSin(-1)

3 1
4= arcSin[gj S= arcCos(Ej .6 =arcCos(0) |, ,

5] e

Tj .9 =arcTan(1)

Nol =

7= arcSin[—

~~NQE®>~s ¥

T

X

(o A2 ! . 1 M
.1 = Sin| arcSin| —T .2 = Tan| arcCos 5 .3 = Sin| arcCos ; a
[ t
. 3 (. (= =
4= Cos[arcSm(— —D 5= arcSln(Sln(—D 6= arcCos[Sln(—]J h
No2 = 2 3 4 @
(1= b I1n M
.7 = arcSin| Sin| .8 = arcCos| Cos| — — .9 =arcTan| Tan| —
6 3 U
(13=m ) (1 T
10 = Sec(arcTan(«ﬁ)) .11 =Tan| arcCos| Sin p .12 = ArcSin| Cos| ArcSin| 5 )
C ]
-1 3 ﬁ a
.1 = Tan| arcCos ? .2 = Cos| arcTan| ; .3 = Sec| arcCos T ¢
h
1 -5 5
No3=| 4= Csc[arcTan(—D 5= Cot[arcSin(—D 6= Cos(arcSin[LD , .| @
6 8 9 M
(3 : 4 . U
.7 = Tan| arcSin| ; .8 = Sin| arcCos| g 9= Sln(arcTan(—«\/;)) T
L | M
C ]
[ , 3 (4 1 (-4 ] a
.1 = Sin| arcCos| — |+ arcSin| — .2 =Cos| arcCos| 7 | + arcSin| — ¢
8 9 2 7
5 2 h
No4 = 3= Sin[Z arcSin[—D 4= cos[Z arcSin[—D R @
8 3
M
b (5m (5m . 2n
.5 =arcTan| Cos| — |+ Sin| — .6 = Cot| arcCos| Sin| — | |+ arcSin| Cos| ——— U
L 2 2 6 3 i T
L / -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.11440

i (A2 !
/= arcCos(ﬁ) .2 = arcSin T .3 = arcCos| 5
3
Nol=| 4= arcTan[gJ S= arcTan(ﬂ/?) .6 =arcSin(-1)

-1 2
7 =arcCos(0) 8= arcCos(;j 9= arcSin(— g}

NOEEIE NN

l\)
\ /\ﬂq

_ 5 _ v
A= Sin(arcSin[LD 2= Cos(arcTan(— D 3= Tan(arcCos( J
2 3 2 a
[ t
. 3 s T
4= Sln[arcTa [TD = arcSm(Sm[ —D 6= arcCosESl gjj h
N02 = s s @
) (5= 3n
7= arcSm(Sm(—D 8= arcCos(Cos( D 9= arcTan(Tan( D M
6 3 6 U
(-1 . b . «/; T
.10 = Sec| arcSin| 3 .11 = Sec| arcSin| Cos| — Z .12 = ArcCos| Sin| ArcCos| — T /
"
2 -7 a
1 = Csc| arcCos g .2 = Cot| arcTan| E .3 =Sin| arcTan ¢
3 5 h
No3=| 4= Cos(arcSin[— —D S= Cos(arcTan(—D 6= Sln(arcCos[ D ., .| @
5 4 M
-1 -1 U
7 = Tan| arcCos| — .8 = Tan| arcSin| ; .9 = Sec arcSln T
L | 7
Far]
i ) 1 (-1 2 (1 i a
.1 = Sin| arcCos| 7 |+ arcSin| — .2 =Cos| arcCos| — | + arcSin| — ¢
2 5 3 2
1 1 h
No4 = 3= Sin(Z arcCos(—jj 4= COS(Z arcCos(—jj , .| @
2 2 M
9 (n . Tn . T
.5 =arcTan| Cos| — |+ Sin| — .6 = Sec| arcCos| Sin| ——— | | + arcSin| Cos| — — U
L 2 2 6 6 | T
./ .

No5 = Sin(2 arcCos(a.)),

s

s

No6 = Cos(2 arcSin(a)),

N QX NQOX
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TrigonometryExercise5 for No.11466

M
a
3 -1 3
1= arcCOSELJ 2= arcCos(—j 3= arcSin(— LJ !
2 2 2 h
Nol=| .4=arcCos(-1) 5= arcTan(«/;) .6=arcSin(2) | .| @
3 . (42 M
.7 =arcTan| — T .8 =arcSin(1) .9 = arcSin T U
T
L/ ]
-1 3 3 1 [m]
1= Sin[arcSin(—D 2= Tan[arcCos(LD 3= Cos(arcTan(— £D
2 2 3 a
. «/; b . Sn !
.4 = Sin| arcCos| — T .5 =arcCos| Cos Z .6 = arcSin| Cos| ? h
N02 = > s @
s 3= 2n Sn
7= arcSm[Sm[— D 8= arcCos(Cos(— —D 9= arcTan(Tan(— —D M
3 6 U
. ﬁ . n . -1 T
.10 = Csc| arcSin —T .11 = Csc| arcSin| Cos —Z .12 = ArcCos| Sin| ArcCos ; )
"
1 3 7 a
A= Csc(arcSin[gD 2= Tan(arcSin[— g]} 3= Cos(arcTan(%D ¢
1 -4 -1 h
No3=|.4= Sec[arcTan[—D 5= Sin(arcCos[—D 6= Cos[arcSin(—D , .| @
6 7 2
M
, 5 V2 U
.7 =Sin(arcTan(-1)) .8 = Tan| arcCos g .9 = Cot| arcCos| T T
L | M
Far]
i ) 2 (3 3 (-3 i a
.1 = Sin| arcCos| ~ |+ arcSin| ~ .2=Cos| arcCos| ~ | + arcSin| — ¢
5 5 4 7
5 1 h
No4 = 3= Sin(Z arcCos(—jj 4= cos(Z arcSin(—D , .| @
7 2 M
5n (9m (5= . b
.5 =arcTan| Cos| — |+ Sin| —— .6 = Csc| arcCos| Sin| — | |+ arcSin| Cos| — — U
L 2 2 6 6 | T
L -/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.11863

M

a

.1 =arcSin(2) .2=arcTan(0) .3 =arcSin(-1) ¢

3 3 !

NoJ = .4:arcTan(«/§) .5:arcCos£— 5 j .6=arcCos( > ]’ @
7 Cos(0 8 Si Eij 9 Si (lj M

.7 =arcCos(0) .8 = arcSin 5 .9 = arcSin > U

T

L/

I 3 3 2 1
1= Sin[arcSin(— gD 2= Cos[arcSin(TD 3= Tan(arcCos[TD
. «/; e [T . 3n
.4 =Sin| arcCos| ———— .5 =arcSin| Sin| — .6 = arcSin| Cos| ——
2 4
No2 =
o 1n Sn
7= arcSm[Sm( p D 8= arcCos[Cos[T j 9= arcTan[Tan(?
1 57
0= Csc(arcSin ED Al = Csc(arcCos(Sin ?JD 2= ArcSin(Cos(ArcSin[

_.1 = Sin[arcCos(— %D 2= Tan[arcSinE%D 3= Sin(arcTanED_
No3=| 4= Cos[arcSin(@D 5= Sec[arcTan[— @D 6= cSc[arcsin@D :
rotufwcoll))  mcofmenl ) omcofur L)

i 1 -4 3 1 i
A= Sin[arcCos(—] + arcSin(—D 2= Cos[arcCos(—j + arcSin(—D
3 9 4 4
2 1
No4 = 3= Sin(Z arcSin(;D 4= cos[Z arcCongD
9n (9m ) R . 101
.5 =arcTan| Cos T + Sin| T .6 = Cot| arcCos| Sin —? + arcSin| Cos| 3

No5 = Sin(2 arcSin(a)),

a
N|§|;/;/
~NCE®=~s ¥

——
——
L
T
L

~NSX®=~28 X

~-NQCX®=>~-23X

s

No6 = Cos(2 arcSin(a)),

s

NCET NQOX
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TrigonometryExercise5 for No.11967

.I =arcTan(1) 2= arcTan(ﬂ/g) .3 =arcCos(1)

1 . V2
Nol = 4= arcCos( 5 ] .5 =arcSin(7) 6= arcCos[ 5 ] .

2 1
7= arcSin(— g} .8 =arcSin(-1) 9= arcSin[EJ

S Scz®~~= =

_ 3 1 _ o
A= Tan(arcTan(— g]) 2= Cos[arcSin(E J 3= Tan(arcSin[ > D
i
.4 =Sin(arcTan(1)) S arcCos[Co (TD 6= arcCos[Sin ;D
No2 = 3n 131

o Tmn 1
.7 =arcSin| Sin| — T .8 =arcCos| Cos

.10=Cot(arcTan(-1)) .I11= Tan[arcSln(Cos

_1 COt[arCCOS[ 9 j] 2= Sec(arcTan(%]
vir-| -t )] s-sufmenl2)) o-cufmsl)) |
I = Cos[arcTan[SjJ 8= Tan(arcCos(%)) .9=C0s£arcSin(§j] ]

[ 3 1 2 -1 ]
A= Sin[arcCos[—] + arcSin(—D 2= Cos[arcCos(—j + arcSin[—D
8 3 7 6
1 1
No4 = 3= Sin[Z arcSin[ED 4= cos(Z arcSin(ZD
3n 5n 5w
S= arcTan(Cos(S m)+ Sin(— TD 6= Cot[arcCos(Sin[— 7]) + arcSin[CosETDj

9= arcTan(Tan( p

j 2= ArcCos(Sin[ArcCos(
, J7))]
.3 = Sin| arcTan| —?

)
=)

~NCE®s~=E

=

|

Ne—
L

N~ N—
1
I

N |-

~NSE®s~8 g

~NQRO®=-~18 X

No5 = Sin(2 arcCos(a.)),

s

No6 = Cos(2 arcCos(a)),

s

NQE NaOER
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TrigonometryExercise5 for No.13031

M

3 2 a

A= arcCos[— g} 2= arcCos(gJ .3 =arcSin(5) ¢

2 !

Nol =| 4= arcSin| —7 .5 =arcSin(1) .6=arcCos(0) |, . @

M

1 3
= arcSinL—J 8= arcTan(«/g ) 9= arcTan(— LJ v
L 2 3 /] T
L/
i 2 . ()] [M]
.1 = cos| arcCos T .2 =Sin(arcTan(-1)) .3 =Cos| arcSin| T a
-1 b e !
.4 = Tan| arcSin| — .5 = arcTan| Tan| —— .6 = arcCos| Sin| — h
No2 = 2 3 4 @
(. (3= I1n Sn S

.7 = arcSin| Sin .8 = arcCos| Cos| .9 =arcTan| Tan| —/— M
6 3 6 U
T
!

2 107
0= Sec(arcCos[— g]] Al = Cot(arcSin[Cos[ 3 jj 2= ArcCos(Sin(ArcCos[

[ -5
A= Sin(arcCos[;D 2= Csc(arcSin( .3 =Cos(arcTan(-7))

M

a

t

5 A5 h

No3 =| .4 =Cos| arcSin| — .5 = Tan| arcSin| — .6=Sec| arcTan| —— |||, ,| @
8 4 M

U

T

!

N|§|
N—
N—
L

<&

N—

N—
]

oeE

e |

RN I e

[ 1 1 1 -5 ]
A= Sin[arcCos[—] + arcSin(—D 2= Cos(arcCos(—J + arcSin[—D
2 2 2 9
1 1
No4 = 3= Sin[Z arcSin[ZD 4= COS(Z arcCos(gD
. (Tn . R
S =arcTan(Cos(5 n) + Sin(-4 m)) .6= Cot[arcCos(Sln(?D + arcSln[CosETjD

~NQR®==~-28 X

No5 = Sin(2 arcCos(a.)),

s

No6 = Cos(2 arcCos(a)),

s

NQE NaOER
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TrigonometryExercise5 for No.13093

M
2 a
.1 = arcSin| — T 2=arcSin(2) .3 =arcCos(-1) ¢
/3 !
Nol = .4 =arcSin(0) S=arcSin| —— | .6=arcTan(-1)|, . @
2 M
/3 1 U
.7 =arcCos| ——— .§=arcTan(0) .9 =arcCos| T
L 2 2/ T
L/ ]
sl Lo L B[
.1 = Sin| arcSln .2 = Sin| arcCos —T .3 = Cos| arcTan T a
5 t
4= Tan[arcCos[ j 5= arcSin(Sin[ D 6= arcSin[Co [?D h
N02 = . . Tl: 3 17 n > s @
.7 = arcSin| Sin| — =arcCos| Cos| ——— .9 =arcTan| Tan M
4 6 U
, 17 1 T
.10 = Cot| arcSin| — Al = Sec arcCos| Sin| .12 = ArcSin| Cos| ArcSin| E ,
- M_
— ‘ -1 2 3 7 a
.1 =Cos| arcSin| — .2 = Sec| arcCos| = .3 = Tan| arcCos| — '
6 5 8
s 2 5 h
No3 =|.4=Sin| arcCos| ——— .5 =Sin| arcTan| = .6 = Csc| arcSin| — , .| @
8 7 9 M
(45 s U
.7 =Cot(arcTan(-1)) .8 = Tan| arcSin T .9 =Cos| arcTan| — T T
L i M
o7a
i ] 2 (1 2 (2 ] a
.1 =Sin| arcCos| |+ arcSin| — .2 =Cos| arcCos| 7 | + arcSin| — ¢
5 4 3 7
3 3 h
No4 = 3= Sin[Z arcCos[—D 4= cos(Z arcCos[—D , .| @
5 7
M
Tn . Sn . Sn . Sn
.5 =arcTan| Cos| — |+ Sin| ——— .6 = Cot| arcCos| Sin| —— | | + arcSin| Cos| ——— U
L 2 2 6 6 i T
/

No5 = Sin(2 arcCos(a.)),

s

No6 = Cos(2 arcSin(a)),

s

NOER NCE
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TrigonometryExercise5 for No.13163

- 3 -
A= arcCos(gJ .2 =arcCos(0) .3 =arcSin(-7)
-1 2
Nol=| 4= arcCos(;J S =arcSin(-1) 6= arcSin(— g}

7= arcTan(@] 8= arcTan(ﬂ/; ) 9= arcSin[@J

1 . ﬁ |
.1 = cos| arcCos| 5 .2 =Sin| arcCos| —— .3 =Cos| arcTan| —
-1 3n b4
4= Tan[arcCosE—jj S= arcCos(Cos(— ] 6= arcCosESln(
2 4
No2 =
4n
3
b

T

> uﬁm\ﬂqs®w~as

Iln S
7= arcSin[Sin( p D 8= arcCos(Co ( 9= arcTan[Tan(— D

5 1
10 = Csc(arcTan(ﬂ/_)) Al = Csc(arcSm[Cos[ ?DJ .12:ArcSin[Cos[ArcSi (ED

)|
)
)

—
o | W
a

~NQX®=~23 K

\_/

3 . A3
.1 = Tan| arcCos Z .2 = Sin| arcCos| T .3 = Cos| arcTan
-4 7
No3=| 4= Cot[arcSin(gD 5= Sec[arcTan[— g]] 6= Csc[arcCosE
. -5 (5 .
7= Sln[arcTan[ng 8= Tan[arcSln[gD 9= Cos[arcSln(

U‘ul»—t

\]l_p,

=

~NCE@®s~s &

M
| , 1 (2 1 (1 T a
.1 =Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| — | + arcSin| — ¢
6 3 2 3
2 1 h
No4 = 3= Sin[Z arcCos[—D 4= cos(Z arcSin(—D , .| @
5 4
M
on (Tn (7n . Sn
.5 =arcTan| Cos| —/— |+ Sin| —/—— .6 = Cot| arcCos| Sin| —/ | | + arcSin| Cos| —//— U
L 2 2 6 3 ] T
L ! -
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.13403

-1 3 )
1 = arcSin(-1) 2= arcCos[;j 3= arcSin[%}

2
Nol=| 4= arcSin[— TJ S =arcTan(-1) .6= arcTan(«/;) b >

2 |
.7 = arcCos| T 8= arcSln(«/;) .9 =arcCos(1)

~NQRX®= -~ ¥

[ 2 3 2 [ M|
A= cos(arcCos(— g}] 2= Sin(arcCos(— g}] 3= Tan(arcCos[%D a
b . 3n l
.4 =Cos(arcTan(1)) .5 =arcTan| Tan| —— .6 = arcSin| Cos T h
No2 = o ( sn 3 137 | @
.7 =arcSin| Sin| ———— .8 =arcCos| Cos| ——— .9 =arcTan| Tan M
6 4 6 U
«/; . 8 . 1 T
.10 = Cot| arcCos T .11 =Csc| arcSin| Cos| —/ .12 = ArcCos| Sin| ArcCos| 5 ,
C ]
(3 (A7 7 a
.1 =Cos| arcSin| g .2 = Sec| arcSin| — 1 .3 =Csc| arcTan ; ¢
h
7 5 3
No3=| 4= Cot[arcCos[— LD S= Tan[arcCos(—D 6= Cos[arcTan(— LD , .| @
9 7 5 M
sl 3] aesulweml3)]  omsumeof 3] ||
.7 = Tan| arcSin| — .8 = Sin| arcTan| — .9 = Sin| arcCos| —
6 2 7 T
L ~/ .
C
i ) 1 (2 5 (1 ] a
.1 = Sin| arcCos| 7 |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| ~ ¢
2 7 8 2
1 5 h
No4 = 3= Sin[Z arcCos[—D 4= cos[Z arcSin[—D , .| @
2 7
M
. . 17n . b
.5 =arcTan(Cos(4 ) + Sin(5 w)) .6 =Csc| arcCos| Sin —T + arcSin| Cos —? u
L - T
L -/ -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.13459

[ M
a
1 . |2 ,
.1 = arcCos 5 .2=arcSin(-1) .3 =arcCos| — T 5
Nol = (42 (-1 B @
4=arcSin| —— | .S5=arcSin| —| .6=arcTan| ——— M
2 2 3
7= arcSin(—v\/;) .8 =arcTan(0) .9 =arcCos(0) (1{
(. ~/ -
I 2 3 2 1 [ M]
A= Sin[arcSin(gD 2= Sin[arcCos(gD 3= Tan(arcCOS[— g]] a
. «/; i . 2n !
.4 =Cos| arcSin| — —— .5 =arcTan| Tan| — .6 = arcSin| Cos| — h
No2 = 2 4 3 ., | @
(. (13w 2mn 177 M
.7 = arcSin| Sin| .8 = arcCos| Cos| ———— .9 = arcTan| Tan|
6 3 6 U
1 . 101 . -1 T
.10 = Sec| arcCos| 5 .11 = Cot| arcSin| Cos 3 .12 = ArcCos| Sin| ArcCos| ; ,
o7a
1 (A5 (4 a
.1 =Tan| arcCos| ——— .2 =Tan| arcSin| ——— .3 = Sec| arcSin| — t
8 9 7
-3 4 h
No3=| 4= Cot(arcC0s£7D .5 = Sin( arcTan(ﬂ/g)) 6= Sin[arcCos(;D . .| @
M
el3))  s-edweral 3] o-cofuwesu3))] |
.7 =Cos| arcTan| — .8 =Csc| arcTan| — .9 =Cos| arcSin| —
4 5 5/)/1 T
L/ ]
o7a
i ) 1 (-5 1 (2 ] a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| — |+ arcSin| — ¢
6 8 4 3
2 2 h
No4 = 3= Sin[Z arcSin[—D 4= cos(Z arcSin(—D , .| @
7 3
M
. 9= (1= . b
.5 = arcTan| Cos(m) + Sin| —T .6 = Csc| arcCos| Sin p + arcSin| Cos| — ? u
L - T
/

No5 = Sin(2 arcCos(a.)),

s

No6 = Cos(2 arcSin(a)),

s
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TrigonometryExercise5 for No.13581

M
[ a
2
A= arcSin[Tj 2= arcTan(«/;) .3 =arcCos(0) 2
Nol=| .4=arcSin(-1) S=arcSin(5) .6=arcTan(-1)|, .| @
A3 (1 1 M
.7=arcCos| ——— .8 = arcSin| — .9 =arcCos| = U
2 2 2
T
L/
(A (A3 (A2 M ]
.1 = Sin| arcSin| T .2 =Cos| arcSin —T .3 = Tan| arcSin —T a
b T !
.4 =Sin(arcTan(1)) .5 =arcCos| Cos| Z .6 = arcCos| Sin| ; h
No2 = . 131 b 17n | @
.7 = arcSin| Sin| — .8 = arcCos| Cos| — .9 = arcTan| Tan| — M
6 3 6 U
«/5 17 . (-1 T
.10 = Csc| arcCos| — T .11 = Csc| arcCos| Sin .12 = ArcSin| Cos| ArcSin ; ,
C ]
s (45 a
.1 = Tan| arcCos T .2 =Sec| arcCos| — 3 .3 = Csc| arcSin T ¢
5 3 i
No3=| 4= Sin[arcTan[— TD S= Cos(arcSm(gD .6 =Cot(arcTan(7)) | > @
M
o)) msulamcol3])oeralwesi(3)]] 1Y
.7 =Cos| arcTan| — .8 = Sin| arcCos| ~ .9 = Tan| arcSin| —
L 3 9 4)) | T
L ~/ .
C ]
i ) 1 (2 2 (3 a
.1 = Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
3 3 5 7
3 5 h
No4 = 3= Sin[Z arcSin[—D 4= cos[Z arcCos[—D , .| @
5 6
M
. . I1n . b
.5 =arcTan(Cos(n) + Sin(-2 1)) .6= Csc(arcCos(Sln(— TD + arcSln(Cos[— ED] u
L - T
L -/ .
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.13668

1 =arcCos(-1) .2 =arcSin(0) .3 =arcTan(-1)

3 2
.4 =arcSin(7) 5= arcCos(£j 6= arcSin(LJ
Nol = 2 2 ),

3 3 -1
7= arcTan(%] 8= arcCos[— g] 9= arcSinL;j

| 2
= cos(arcCos[%D .2 =Cos(arcTan(-1)) 3= Tan[arcSin(—

4= Sin(arcCos[— ] 5= arcSm(Sm[ D 6= arcSinECos[
No2 =
7= arcSin(Sin[ p D 8= arcCos[Cos[ ?D 9= arcTan[Tan( p
11
0= Sec[arcSin(%D .11 =Sec arcSln[Cos{ 3 Dj 2= ArcCosESln[ArcCos

BN
2= Cos[arcSm(J .3:Tan[arcSin[€D

M

a

J ,

s D ) s-cofmralZ))} |

No3 =|.4=Cot| arcSin| —— 5= Csc arcTan| — .6 =Cos| arcTan| — |||, .| @
8 3 3

M

U

T

/

T

m|%|l'\ﬂqg®§‘“ai

N—
~—
|

1

|

UJ
UJ

—_
w A3
aQ ~——
;/;/

[\

~NSE®=~s %

o
NG

)

T
L

= Tan( arcCos

N
<|0\|u-

(9%}

5
7= Sln[arcTan[ D 8= Sec[arcCos[g ] .9 =Sin arcCos(Jj
i 4 5 5 -1 ]
= Sin(arcCos[—J + arcSin(—D 2= Cos[arcCos(—j + arcSin(—D
7 9 6 2

No4 = 3= Sin[Z arcCosE

—D 4= COS(Z arcSin(lD
7 2

(19m . I1n . 8
S= arcTan(Cos( 10m)+ Sm( 2 D 6= Sec[arcCos(Sm(— TD + arcSm[Cos[TDJ

M
U
T
M
No6 = Cos(2 arcCos(a)), ,| U

T
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N

NS E®= -2 X

No5 = Sin(2 arcSin(a)),
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TrigonometryExercise5 for No.13716

1 = arcSin(-1)

1
2= arcCos[—]
2

2
4= arcSin[— TJ .5 =arcCos(1)

7= arcSin(«/E)

el )

Nol =

8= arcTan(«/? )

2= Tan[arcSin(‘ ﬁ]]

No2 =

6

w

No3 =

[}

.4 =Sin(arcTan(1)) S= arcTan[Tan[ D
E
7= arcSin[Sin(— ?D 8= arcCos(Cos( D
.10 = Csc| arcCos| — T .11 = Csc| arcCos| Sin|
.1 =Sec| arcTan| = .2 = Tan| arcCos| —
7 8
.4 = Csc| arcCos| T .5 = Sin| arcTan|
7= Cot[arcSin(— %D 8= Sin(arcCos[%D
_ ‘ ( [4J . (SJJ
.1 = Sin| arcCos| ~ | + arcSin| —
5 8
3= Sin[Z arcSin[—D
6

—_

No4 = 4=c

No5 = Sin(2 arcCos(a.)),

s

No6 = Cos(2 arcSin(a)),

s

X [Page
X

(ﬁj
.9 =arcSin| ——
2 )]

=)

.3 =arcTan(-1)

-1
6= arcCos(—J
2

~~NQE®>~s ¥

T

ox|n ro|T37[

3= Cos( arcSln[

6= arcCos[Sln[

Tn
.9 =arcTan| Tan| ———

6
2= ArcCos( Sin[ArcCos(

AT
3= Cos(arcSin[;D

.6 = Cos(arcTan(-5))

(-4
9= Tan(arcSln(7D

>

4 -1
2= Cos[arcCos(;j + arcSin(;D

fomcl?)

NOER NCE

l"|§|
N—
N—
\_/

S5n (Tn [Tm : .lllz
S= arcTan(Cos(Tj + Sln(TD 6= Sec[arcCos(Sln£7D + arcSln[Cos{ 3 Dj
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TrigonometryExercise5 for No.13720

(42
A= arcTan(«/;) .2 = arcSin T .3 =arcCos(1)
Nol=| .4=arcSin(-3) S=arcTan(0) .6 =arcSin(-1) |,

3 1 -1
7= arcSin[— LJ 8= arcCos(—j 9= arcCos(—j
2 2 2

s

~NQX® >~ 28 §

[\e}

_ | v
A= Sin(arcSin[%D .2=Cos(arcTan(1)) 3= Tan(arcSin[;D a
[ t
. 2 b4 . b
4= Sm(arcCos[TD S= arcTan[Tan[;D 6= arcSln(Cos{;D h
No2 = ., | @
o Sn 2n 3=
7= arcSm(Sm(— —D 8= arcCos(Cos(— —D 9= arcTan(Tan[ D M
6 3 6 U
ﬁ . In . ﬁ T
.10 = Sec| arcCos| —T .11 = Cot| arcSin| Cos| 3 .12 = ArcCos| Sin| ArcCos| T /
]
I . -4 (2 3 ] a
.1 =Sin| arcCos| ; .2 = Cos| arcSin| g .3 = Sec| arcCos ; P
3 h
No3 =|.4=Cos( arcTan(«/?)) .5 =Sin(arcTan(-6)) .6= Csc(arcSin[— TD , L@
1 A3 5 M
7= Cot(arcTan[‘D 8= Tan[arcCos[—]] 9= Tan[arcSin(_—D U
L 7 8 9 | T
L ~/ .
Cu]
i 5 5 3 -1 i a
.1 = Sin| arcCos| — | + arcSin| ~ .2 = Cos| arcCos| — | + arcSin| — ¢
6 6 4 5
5 1 h
No4 = 3= Sin(Z arcCos(—jj 4= cos(Z arcCosL—D , .| @
7 6 M
. (5= . 10m
.S =arcTan(Cos(5 )+ Sin(3 ®)) .6 = Cot| arcCos| Sin| _6 + arcSin| Cos 3 U
L g T
./ .

No5 = Sin(2 arcCos(a.)),

s

No6 = Cos(2 arcCos(a)),

s

N o E NQOR
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TrigonometryExercise5 for No.14307

N
1 =arcSin(-1) .2 =arcSin(-7) 3= arcCos[EJ

|§I"\ﬂqi®w~ai

Ne— |
|
1
|

1 (43
Nol=| .4=arcTan(1) .5 = arcCos| ; .6 = arcSin 7

3 3
7= arcSin(— gj S=arcCos(l) .9= arcTan(— g}

(43 .
.1 = Sin| arcSin T .2 = Cos( arcTan(—v\/;)) .3 = Tan| arcSin
. 3 n .
.4 =Sin| arcTan| ———— .5 =arcCos Cos .6 = arcSin| Cos
3
No2 =
57 10 b
.7 = arcSin| Sin| — ? .8 = arcCos| Cos .9 =arcTan| Tan| — p
(A3 , 8 7 1
.10 = Csc| arcSin —T .11 = Sec| arcSin| Cos T .12 = ArcSin| Cos| ArcSin| ;

me@qum@jm@qn
-] -sifusco L) ofurl] s-cdus2)}
s ) ol 12)] - sufuncnl?])

(9}
(o)} [\
E

(9%}

e

A

Se——

N——
~NCXE >~

L
T
L

W |

_
°°|§|“

~NSE®=~s ¥

M
[ 3 -3 2 1 ] a
.1 =Sin| arcCos| — | + arcSin| — .2 =Cos| arcCos| — |+ arcSin| ~ ¢
8 7 3 5
3 1 h
No4 = 3= Sin(Z arcCos[‘D 4= COS(Z arcSin(—D , .| @
4 2 M
. [ Tm . 7n
.5 =arcTan(Cos(3 w) + Sin(-2 )) .6 = Sec| arcCos| Sin T + arcSin| Cos T U
L - T
L ! .
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcSin(a)), ,| U
T
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TrigonometryExercise5 for No.14598

7Y
1= arcSin(—v\/E) 2=arcTan(0) 3= arcCos(— LJ

2

-1 3
Nol=| 4= arcTan(ﬂ/;) 5= arcSin(;j 6= arcCos[gj

1
7= arcSin[EJ .8 =arcCos(1) .9 =arcSin(-1)

~NQRX®= -2 ¥

_ ﬁ o7a
.1 =Tan( arcTan(«/; )) .2=Cos arcTan .3 = Sin| arcTan| —T a
. «/; . 2n !
.4 =Tan| arcSin| ——— .5 =arcCos| Cos| — .6 = arcSin| Cos| — h
No2 = 2 3 ., .| @
sl 557 E (SJ ) ]
.7 = arcSin| Sin| .8 =arcCos| Cos| ———— .9 = arcTan| Tan|
6 6 U
-1
0= Cot[arcCos(;D Al = Sec(arcCosESm( Dj 2= ArcSm(Cos(ArcSm[ 5 jj] 7;
o7
-5 2 a
A= Sin(arcCos(ED .2 =Sin( arcTan(«/;)) 3= Cot(arcSin[— g]j ¢
h
1 5 1
No3=| 4= Sec(arcCos[—D 5= Tan(arcCos[— LD 6= Csc(arcTan(—D , .| @
3 9 2 M
el ] - cofwesil ) ssly]) | 1Y
.7 =Cos| arcTan| — .8 = Cos| arcSin| — .9 = Tan| arcSin| —
L 4 8 4 T
L ~/ .
o7a
[ , 5 (-3 1 (4 ] a
.1 = Sin| arcCos| — |+ arcSin| — .2 =Cos| arcCos| — |+ arcSin| — ¢
8 8 2 5
1 1 h
No4 = 3= Sin[Z arcSin[—D 4= COS(Z arcCos(—D , .| @
3 2
M
Tr 13n 137
JS= arcTan(Cos(Z )+ Sin(TD 6= Cot[arcCos(Sin[— TD + arcSin[CosETDJ u
L - T
/

No5 = Sin(2 arcCos(a.)),

s

No6 = Cos(2 arcSin(a)),

s
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TrigonometryExercise5 for No.14624

-1 2
d=arcTan(l) 2= arcSinL;j 3= arcCoslgj
Nol =| 4=arcSin(7) .5= arcTan(—«/g) .6 =arcCos(0)

1 3
.7 =arcSin(-1) 8= arcSin(Ej 9= arcCos[— g}

> s

~NCE® -1 g

A= Sin[arcSin(@D .2 =Cos(arcTan(1)) 3= Tan[arcSin(— —D

(O8]

2

-1 Sn
4= Sln[arcCosl—D S= arcTan(Tan[ jj 6= arcSln(CosL—j
2 6
No2 =
) ) Iln 131
.7 =arcSin| Sin| — p .8 =arcCos| Cos| — .9 = arcTan| Tan

.10 = Cot( arcTan(«/;)) Al = Cot[arcSm[Cos[ STJD A2 = ArcCos[Sm[ArcCo [

_ N Csc(arccos(%n 2= cOt(arcsi [ . D 3= Tan(arcCOS@D 1
No3=| 4= Sin(arcCos[— @D 5= Tan[arcSin(gjj 6= cOs(arcsir{}D .
7= Sec(arcTanGD 8= cOs(arcTanGD 9= Sin[arcTan[%D_

NI'—‘;/
~NCR®=~=:K

)

;/

UJ

—

~NCE®s~=E

M
[ , 4 (2 5 (-1 | a
.1 = Sin| arcCos| — |+ arcSin| ~ .2 =Cos| arcCos| ~ | + arcSin| — ¢
7 7 8 2
4 1 h
No4 = 3= Sin(Z arcCos[—D 4= COS(Z arcCos(—D , .| @
9 2
M
. (1lm . 137
.5 =arcTan(Cos(4 ) + Sin(—4 ©)) .6 = Csc| arcCos| Sin| p + arcSin| Cos T u
L - T
L ! .
M
No5 =Sin(2 arcCos(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.14641

1= arcCos(—«/;) 2= arcCos(@J 3= arcCos[— g}
3

Nol=| .4=arcTan(0) 5= arcTan[Tj .6=arcSin(0) |,

2 1
.7=arcCos(-1) .8= arcSin(— g} 9= arcSin[EJ

N CE®=-~3s %

w

= cos[arcCos[— gD .2 = Cos( arcTan(«/; )) 3= Sln[arcCos(
il 2 (sl -5)) [so{
.4 =Tan| arcSin| —— .5 = arcSin| Sin| —; .6 = arcCos| Sin|

2
3 b4
8= arcCos(Cos(— ED 9= arcTan[Tan[ p
1

T
7= arcSin(Sin( j
6
b1
P Dj 2= ArcCos[Sin(ArcCos -

1
0= Cot(arcTan(g]] .11 =Tan| arcCosLSln[

_.1 = Sin(arcTan(— @D 2= Cos[arcSin(@J] 3= SeC(mCOS@Jj

No3=| .4=Cos(arcTan(-2)) .5 =Csc(arcTan(2)) 6= Tan[arcSin( j

2 -1 7
7= Cot(arcSinL—D 8= Tan(arcCosE—jj 9= Sin(arcCos[— —]]
5 4 10 /)]

i 5 -1 1 2 ]
= Sin(arcCos(—J + arcSin[—D 2= Cos[arcCos(—j + arcSin[—D
7 3 4 3
3 3
No4 = 3= Sin[Z arcSintzjj 4= cos(Z arcSin(gD
3n (9m (17n . 8m
.5 =arcTan| Cos 7 + Sin| 7 .6 = Csc| arcCos| Sin| + arcSin| Cos| T

No5 = Sin(2 arcSin(a)),
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TrigonometryExercise5 for No.14681

/= arcTan(«/g )

4 =arcCos| ——
2

Nol =

el 2)

4 = Cos( arcTan(—«\/g)) S=

No2 =

8= arcCos[Cos[

. 2
.2 = arcSin| —

5 =arcCos(0)

3
.7=arcSin(-1) 8= arcTan(— TJ

2= Tan[arcSin(

)
)
%)

1

IF‘“

arcCos(Co (

(9%}

6

2= Sin(arcTan(

S= Sin(arcCos(

8= Tan[arcSin(

)

J)

QIs o= Ll
A R
Ne— N

2
2= Cos[arcCos[gJ + arcSin(

1 _
3= arcSin(—j
2

6= arcSin(—v\/g) . s

-1
9= arcCosE—]
2) ]

3= Sin(arcCos(—
6= arcCos(Sin(

9= arcTan( Tan(

T

ro|f:1(\ N QX >~ X

\]wl;‘
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2= ArcCos[Sin[ArcCos[

el Z)]
omcofmenf2) |
seedun(Z)]

o)

6

5
4= cos[Z arcCos[gD

5n S5n Sm 4n
5= arcTan[Cos[TJ + Sin(— TD 6= Csc(arcCosLSin(?D + arcSin(Cos(TjD

Ne——

) ) R
7= arcSm(Sm(— D
J2
.10 = Cot| arcSin| T .11 =Sec| arcCos| Sin
-6
= Sec(arcTan(—D
7
7
No3 =|.4=Cos| arcTan ?
(43
.7 = Cos| arcSin T
_ ‘ [ (2] . (3JJ
.1 = Sin| arcCos| — |+ arcSin| —
7 5
1
No4 = 3= Sin(Z arcSin[ED
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TrigonometryExercise5 for No.14688

M
3 1 a
A= arcSin[%} 2= arcCos(Ej 3= arcTan(«/; ) ¢
3 !
Nol =| .4 = arcCos —T .5 =arcCos(0) .6=arcSin(-1) |, ,| @
M
3 2
= arcTan(— LJ 8= arcSin(— £] .9 =arcSin(-3) v
L 3 2 J T
(= , -
~ ﬁ C ]
.1 =Tan(arcTan(1)) 2= Sin(arcTan(—v\/;)) .3 = Tan| arcSin| T a
. . T !
.4 = Cos( arcTan(«/?)) S= arcSm(Sm( D 6= arcCos[Sl (ED h
No2 = o (1ln 137 Tn | @
.7 = arcSin| Sin .8 = arcCos| Cos| .9 =arcTan| Tan| ——— M
6 6 U
«/; [ Bm . «/; T
.10 = Csc| arcTan _T .11 = Csc| arcCos| Sin| — .12 = ArcCos| Sin| ArcCos| T )
]
7 3 a
.1 =Csc| arcCos| — T .2 =Cot( arcTan(«/?)) .3 =Tan| arcCos| g ¢
3 h
No3 = .4 =Sin(arcTan(6)) S= Tan(arcSin[gD .6 =Cos(arcTan(-2))|, ,| @
M
el 3] ool )] o-slwecol3]) |0
.7=Cos| arcSin| ——_— .8 = Sec| arcSin| — .9 = Sin| arcCos| —
L 7 5 8//] T
L ~/ .
]
[ , 3 (-5 4 (1 1 a
.1 =Sin| arcCos| ~ |+ arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
7 7 5 6
1 5 h
No4 = 3= Sin(Z arcSin(—D 4= cos[Z arcSin[—D , | @
3 7
M
3n (5m . Tn . 8
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No5 = Sin(2 arcCos(a.)),
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No6 = Cos(2 arcSin(a)),
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TrigonometryExercise5 for No.14703

X

M
2 a
1 =arcSin(0) 2= arcTan(—«/;) .3 =arcCos| — T ¢
h
3 2
Nol=| 4= arcCos[LJ 5=arcSin(5) 6= arcSin(iJ , | @
2 2 M
N U
.7=arcTan(1) .8 =arcSin| - T 9 =arcCos(1) T
L i M
(4 2 . 1 4
.1 = Sin| arcSin| — .2 =Tan| arcCos| ———— .3 =Sin| arcCos| =
2 2 2 a
o 42 n N t
.4 = Cos| arcSin| —7 .5 =arcCos| Cos| — .6 = arcCos| Sin| Z h
N02 = > s @
) . 17n Sn
.7 = arcSin| Sin| — .8 = arcCos| Cos| — .9 =arcTan| Tan| — p M
U
(1 . V2 T
.10 = Sec| arcSin 5 .11 = Cot| arcCos| Sin .12 = ArcCos| Sin| ArcCos| T ,
s
. 2 -1 ﬁ a
.1 =Sin| arcCos| g .2 = Cos| arcSin ? 3 =Cos| arcTan T ¢
h
3 5
No3=| 4=Csc(arcTan(3)) .5= Cot[arcSm(—D 6 Tan[arcSin(LD . | @
4 7 M
, -1 /5 U
.7=Sin(arcTan(-3)) .8 = Sec| arcCos Z .9 = Tan| arcCos| T T
L i M
"]
i ] 1 (2 1 (1 a
.1 = Sin| arcCos| g + arcSin| ? .2 =Cos| arcCos| g + arcSin| 5 ¢
1 1 h
No4 = 3= Sin(Z arcSin(—D 4= cos[Z arcSinE—D , .| @
3 2 M
3m (9= [ T= . Iln
.5 =arcTan| Cos| — |+ Sin| —— .6 = Cot| arcCos| Sin| — | | + arcSin| Cos U
L 2 2 6 3 i T
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M
No5 =Sin(2 arcCos(a)), ,| U
T
M
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TrigonometryExercise5 for No.14714

.1 =arcTan(0)

Nol =

.1 =Tan(arcTan(1))

4= Tan[arcsm(@n
7= arcSin(Sin(L;jJ

No2 =

(9%}

I 3
A= Cot[arcSin(;D

No3 =| 4 =Csc(arcTan(-4))

i 4 1
= Sin(arcCos[—J + arcSin[—
7 3
1
3= Sin[Z arcSinLgD

(13=
.5 = arcTan| Cos(5 m) + Sin 7

No4 =

No5 = Sin(2 arcSin(a)),

No6 = Cos(2 arcCos(a)),
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.4 =arcSin| —/—
2

-1 2
7= arcCos(;J 8= arcCos[%] .9 =arcSin(-2)

2=
5= arcCos(Co (

8= arcCos(Cos(

0= Sec(arcSin[TD Al = Cot(arcCosESin(

1
S= Cos(arcTan(;]
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.7 = Tan| arcCos E 8=

)

3
2=arcCos(0) .3= arcSin(—

S=arcSin(1) 6= arcTan(«/g )
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)
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D 6= Csc(arcCos[Sm( p

M
| U
T
M
| U
T

2]

3= Cos[arcSin(—
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TrigonometryExercise5 for No.14746

32 V3]
.1 =arcSin(-1) 2= arcCos[— —2 J 3= arcTan(—3 J
. A3
Nol=| . 4=arcSin(2) .5 = arcSin ) .6 =arcCos(1) |,

3 2
7= arcSin[— g} .8 =arcTan(-1) 9= arcCos(gJ

I 3
= Tan(arcTan(— QD 2= Tan[arcCos(

D .3 =Sin(arcTan(4/3))
y3 oo [ =
.4 =Cos| arcTan| —— .5 = arcSin| Sin| — .6 = arcCos| Sin| ——
3 3
No2 =
. . 17n 4 Tr
.7 = arcSin| Sin| — .8 =arcCos| Cos| — .9 =arcTan| Tan| —
6 3 6
b

_.]0 = Sec(arcCos[—g J Al = Cot(arcSinECos( 113 Dj 2= ArcSin[Cos(ArcSin[—é D_

- ‘ . .
= Tan(arcSm[ .2 = Sin( arcTan(—f\/E )) 3= Tan(arcCos(gD

M

-1 a

3 r

ol 3)) el ) smodmslS]) @

No3 =| .4=Sin| arcCos| .5 = Cot| arcTan| — .6=CsclarcSin| Z |||, .| @

5 6 5
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[ 4 3 3 -5 i
= Sin(arcCos(—] + arcSin[—D 2= Cos[arcCos(—j + arcSin(—D
7 4 5 7
1 4
No4 = 3= Sin[Z arcCos(ED 4= cos(Z arcCos[;D
. . 3= . Sn
.S =arcTan(Cos(4 n) + Sin(-m)) .6= Cot(arcCos[Sm(— TD + arcSm(Cos(TjD

~NCE®=~-=s X

No5 = Sin(2 arcCos(a.)),

s

No6 = Cos(2 arcCos(a)),

s
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TrigonometryExercise5 for No.15000

_ ; 1 _
A= arcTan[— g} 2= arcSin(EJ .3 =arcCos(-1)
3
Nol=| 4= arcCos[gJ .5 =arcSin(0) 6= arcSin(~\/5) 8

3 -1
.7=arcTan(1) 8= arcCos(— g} 9= arcSinL;j

[ 1
.1 = Tan( arcTan(—'\/_)) 2= Sm[arcCos(;D 3= Tan(arcSin[
«/; Sn
.4 =Cos| arcSin| ———— .5 =arcCos| Cos| — .6 = arcCos| Sin
2 6
No2 = s s
. (7Tn S5n
.7 = arcSin| Sin| T .8 = arcCos| Cos T .9 = arcTan| Tan| —
(42 . 101 A3
.10 = Csc| arcSin T .11 =Tan| arcSin| Cos| 3 .12 = ArcCos| Sin| ArcCos| —

_.Izcos(arcTan(_ @ D ,Z:Sin[arcCO{—@]J 3= Cos(arcSln[ D
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i 1 2 1 5 ]
= Sin(arcCos[—J + arcSin(—D 2= Cos(arcCos(—J + arcSin[—D
3 5 2 6
1 4
No4 = 3= Sin[Z arcCongD 4= COS(Z arcSin(gD
. 37 . R . 8n
.5 =arcTan| Cos(3 ) + Sin| — —2 .6 = Cot| arcCos| Sin ——6 + arcSin| Cos| —3
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No5 =Sin(2 arcCos(a)), ,| U
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No6 = Cos(2 arcSin(a)), ,| U
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TrigonometryExercise5 for No.15012

M
£ |
1= arcTan(«/;) .2=arcSin(1) .3 =arcSin T ¢
1 h
Nol =| 4= arcCos[EJ .5 =arcCos(-1) .6=arcTan(0) | ,| @
M
-1 3
.7=arcCos(5) .8= arcCOSL—j 9= arcSin(— LJ u
I 2 2 /] T
L/
[ 3 3 1 [m]
A= cos(arcCos(%D .2 = Cos( arcTan(—«\/;)) 3= Tan[arcSin(— LD a
. 2 (o (m (o (= !
.4 = Sin| arcCos| — T .5 = arcSin| Sin| g .6 = arcSin| Cos g h
No2 = > s @
. S5n T In
7= arcSm(Sm( —J 8= arcCos[Cos[— D 9= arcTan[Tan[ D M
6 3 U
«/; . 13n -1 T
.10 = Cot| arcCos _T .11 = Cot| arcCos| Sin| — .12 = ArcCos| Sin| ArcCos| — /
z M_
. -4 2 ] ﬁ a
.1 = Sin| arcCos 7 .2=_Cos| arcTan| —— 5 .3 =Cos| arcSin| T ¢
h
3 . 5 (4
No3 =| 4=Cot| arcCos| ———— .5 = Sin| arcTan| — .6 = Sec| arcSin| — , | @
7 7 7 M
O e O I e O I
.7 =Tan| arcCos| ~ .8 = Tan| arcSin| — .9 =Csc| arcTan| —
3 4 5)) ] T
L/
"]
[ 1 -2 5 3 i a
.1 = Sin| arcCos| ~ | + arcSin| — .2 =Cos| arcCos| ~ | + arcSin| — ¢
2 5 6 4
3 2 h
No4 = 3= Sin(Z arcCos(—jj 4= cos[Z arcSinE—D , .| @
4 7 M
. S 1l= . T
.S =arcTan(Cos(2 w) + Sin(2 1)) .6 = Cot| arcCos| Sin p + arcSin| Cos T U
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M
No5 =Sin(2 arcSin(a)), ,| U
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M
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TrigonometryExercise5 for No.15024

(a2
.1 = arcSin| 7 2= arcTan(«/?) .3 =arcTan(0)
2 3
Nol=| 4= arcCos[— g} JS=arcSin(3) .6= arcSin(— g} b

1
7= arcCos[EJ .8 =arcSin(1) .9 =arcCos(-1)

3 3
.1 = cos| arcCos| —2 .2 = Sin| arcTan ——3 .3 = Tan| arcCos
4= Cos[arcSin(— LD 5= arcSm(Sm[ D 6= arcSinECos[
2 4
No2 =
s 1n Sn
.7 = arcSin| Sin| — =arcCos| Cos| ————
6 6
(42 7n
.10 = Sec| arcSin| T Al = Csc arcCos| Sin| ?

M

wtal 7)) 2 -suferal ] !
.1 =Cot| arcTan .2 = Sin| arcTan| — ¢
-1 h

No3=| 4= Sec(arcSm[ D 5= Cos[arcSin( jj 6= Tan[arcSin(ED , .| @
M

U

T

!

~NQR® -8 X

T
o [35
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9= arcTan(Tan[— p

) e
|

[\

T
L

~NCE®=~s8 ¥

.3 =Cos(arcTan(4))

<A~ o

resufaceof3])a-ofmenf ] o-rafwenf )

M
i 5 3 1 2 a
.1 = Sin| arcCos| — |+ arcSin| ~ .2 =Cos| arcCos| ~ |+ arcSin| — ¢
8 5 2 5
5 5 k
No4 = 3= Sin[Z arcSinE—D 4= cos(Z arcCos[‘D , .| @
7 8 M
RE s ) R ) 17n . 5w
.5 =arcTan| Cos| — |+ Sin| ——— .6 = Sec| arcCos| Sin| ——— | | + arcSin| Cos| —— U
L 2 2 6 3 J T
L ! -
M
No5 =Sin(2 arcSin(a)), ,| U
T
M
No6 = Cos(2 arcCos(a)), ,| U
T
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TrigonometryExercise5 for No.15032

]
- ¥ _ .
.I=arcSin(1) .2=arcCos ; .3 =arcTan(1) ¢
1 2 h
Nol =| .4=arcCos| = S =arcTan(0) .6=arcSin|——— ||, ,|l @
2 2
/5 v
7= arcSin[TJ .8 =arcCos(0) 9= arcSin(«/;) (]{
L ] M
| . (1 1 [M]
.1 = Tan( arcTan(—«/? ) .2 =Sin(arcTan(1)) 3= Tan(arcSm(EJ

a3 wla

@ |
Ne——

T
.4 = Cos(arcTan(-1)) S= arcCos(Cos(;D 6= arcCos[Sin(—
No2 = J

. . Tn 10m 7
.7 = arcSin| Sin| — 7 .8 = arcCos| Cos 3 .9 = arcTan| Tan|
3 (= .
.10 = Sec| arcTan| T .11 = Tan| arcCos| Sin| p .12 = ArcCos| Sin| ArcCos|

M

7 (43 2 a

.1 =Cos| arcTan| —T .2 =Csc| arcSin T .3 =Cot| arcTan g ¢
h

/3 | 4

No3 =| 4= Tan| arcCos| ——— .5 = Tan| arcSin| ~ .6 =Sec| arcCos| — ||} | @
4 5 7 M
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~—
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- D 4
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| resalwetal3)) a-columsilif]) o-snluncrl3))

[ 5 4 1 2 ]
1= Sin(arcCos(—] + arcSin[—D 2= Cos[arcCos[—J + arcSin(—D
9 9 2 5
1 5
No4 = 3= Sin(Z arcSin(gD 4= cos[Z arcSin[;D
5n S5n 11= 2n
S= arcTan[Cos[TJ + Sin[— TD 6= Cot(arcCos(Sin(— TD + arcSin[CosL— TDJ

~~NQRX® =~ X

No5 = Sin(2 arcSin(a)),

s

M
U
T
M
U

No6 = Cos(2 arcCos(a)),

s
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